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ARABIC

( General )
Paper: 6.1

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer all questions

1. Answer any ten of the following questions in
Arabic : 1x10=10

Sl saae ly Lw ol G @)

CUlas Joa Bapeaill oyii o (B)

Coma o paall SEu¥l JLid] waae (8 0l (@)

dane 59aSall MY Helis ™ Vel uiS e (@)
¢ JLisl

8 S WIS 45l 3o o ()

S puill $US; fudl padsl Ja (1)
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(2)

Sebuatll i ool (@)

CHll ) a” LB Gl 58 e (R)
¢ il coaall 36 o alluse aly ol )
Sigpuill e puallys gl 38 o ()
s ¥ sliiuall S o ()

Ssslaal) alll Jy susll uly ool @

2. Answer the following questions in your own
Arabic : 2x5=10

sl oloaa e By Bl (@)

vailis 5 saill go dEEW gl ol s p L )
| Cusaigh aid

CULd wane 4l ol 5 Al il oo IS 00 (00

Gubo i anue ) of way MYl el Ju L (@)
Ha an 4 (Lo pluws Jof 50 oS Jn
' ¢ cpsaluaall

ot o g JLdl wane jaki pgene Jof sale ()
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(3)

3. Answer any four of the following questions :
5x4=20

(@) Who was (sslasll dlll s nsill? Discuss
in brief about his contribution to
Indo-Arabic literature. '

(b) Write a short biographical note on a_y.ull
il e guntlyy) with reference to his

contribution in Arabic literature of India.

(c) What do you mean by &uia Lawi? Write
in brief the moral teaching of Dr. Kamil

Kilani as reflected in his (guigl il

(d) Who was Dr. Mohammad Igbal? Write a
few lines on his ibsll il

(e) What are the main themes of § a1l

69-S—ill and (9-Sll Llg—a of Allama

Dr. Mohammad Igbal?

(f) - What was the consequence of ,—gi1l as
described in {uia ya—aiby Dr. Kamil
Kilanij?
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(4)

4. Translate any two of the following into

Assamese or English : 10x2=20
[A]

8,55l “gue” dmala oo 3aT g Luiball (1 il o8

Sl plaia¥l jaa 5ol (I a5 Tdid) o

9 slaasi¥l ale Lupto (N coaadl g ¢ Godadl b

o g o8l paadd g e gaid (o Lulaud

b Qaliiay Jo Ll laile Lol 00904 G wigl

Bagead Jl5 9 Leges Ll (e aCo aigh W 4y, ke

Ciita lagh elaos ¥ Laesh Ja,h L ol ™ = dlygly Lgatsal
SGilaall 8 laadl

[B]
13 Lol Lol o oyp8any (ulilh ,acT 2)”
ol ] Siassiemg 15Lh < pgua o fyal S
3 hag Oomaiss g Loy g ¢ dladl (g siaas)
Lo 3o ¢Bualy (@) duabs (0S50 Vg ¢ (318 oy pugiing
Gipall aliy oo Wl Ggni i€ 5 ¢l ciiual
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(S)

_ @die Gl ol o o (0 aly G (rslis 1iSa)
Wi o Y udn ellitd oo Jla gl o8 Leiall <ty o
gl

[cl]

3 Lo jll Ballly 3 u:i @slantl oLl Gils o3
fa " ¢l Lalal .u*'i.)ul‘ 9 Glad5e o donopli
9 Lo ¥l Dagyiall 4 s ye @il "Gl L
3 oba¥l Olgab Jads 9 Lsil gt Lajl,ul
5 sadl g plaa¥l 5 GAY 5 o Mladl 5 slaluad
olila g pshio sie GLS Gl 5 bl byl
e B o6 o d Ldie la y By AL
5 pslall oin ool 5 spuddl § epuall y il
5 6ok e Jos Lo siliadl 5 MU 5 olg L

-dale 138
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(6)

5. Explain with reference to the context any two
of the following : 10x2=20

Gloya 4] Sy piall sauall lin oS iy (@)
an 4al) i b s 3o 5 Sdell s o
celly o Ly oY) o sage

Ages gaby sl @Yl el 50 5 ()
ok pla ogis of Ll o
Sle (1550 Lynant S il g e elydl (b
g elaata LS agio anl Jis ply elod

0 il 3 i€ s $(aals 3L) 53 L" (@)
S s, L b « B3 i da ol I

* k%
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